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OR (3121an)

What is first-aid box ? What are its contents

Explain the use of each contents.

YoH SUAR 9T HAT & ? 598 Bid—aie
A a¥qU Edl 27 UAD a%] © SUART Bl
qofq &Y |

8. What are the main objectives of Auto Policy ?

el fAfa &1 g Sz HIa—aI4 87

OR (372rd)
Explain the environmental aspects of Auto Policy.

el Fifd & uglaror usqell @1 rear & |

9. Describe the factors affecting route survey.
8

IIET 97 gd&ror &l yHIfdd dx+ drel dR$1
T qofd DY |
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2019(Odd) Old Syllabus

Time : 3Hrs. Sem - V/ME
MTO

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR (3121an)

Explain the emission norms ?

ydqre fRigrd &1 aar=r a3 ?

Classify the vehicle finance.

qre-l i g &1 FTed & ?

OR (3121an)
What are the function of store.
YR & BId—did & 2 ?

How the cost of maintenance is calculated.

IFREAT oI B TUET D DI Y 27

OR(37214T)

Write the names of various material storage

equipments.

OT5057

(i)

(iii)

(iii)

(iv)

3 33505

faorelt @ SuSHYT AN diw | BIA
AT |

(@) Y 7 wer1 gaw

(@) fagga <ieh

(&) (1) s @) <=

() 39 9 BIg 78

The accident can be classified on the baris
of following.

(a) Injury

(b) Place

(c) Event

(d) All of the above

geedr &1 ffafad smar wr affed
foar < awar 8 ?

(31) sr&n

(@) I

(|) ger

(%) Surqa a+H

The first degree of industrial hazard is.
(a) Falling from stair case
(b) Rehearse of poisonous gas
(¢) Production of excessive heat
(d) All of the above
P.T.O



O'Ld

| ¢4 blab
o bpik LRIBR 121D b Rk}yh Shblie

14
"uoIenIs

Koud3rowd ur onbruydd) SUTALIP 9[O1YAA A3 SSNISI(]

idd Bl 1d P2k & kR|Sa2 RRYRL

- Surpuey [eLd)ewWw Jo douenrodwr oy urejdxyg

(lekE)IO

¢ @ kle—bl® RAPE 10 LISad PRYRY

[Sur[puey [eLIOJRW JO SOANII[QO Y A1 JRy AN

| 2 lod@lfib 1® 12|85 kIR & lod31ba

¢, ordwexa yam syuaprooe Ajisse()

(lprRIR)IO

S0see €1 LSO0SLO

9say} Jo duoN (p)
Joqumnu ur 931e[ pue [eydes oI (9)

9zIS pue an[eA deIIPOIA (q)
Joqunu ur [[ews pue anjeA d3esn Y3y (&)

10J puels y ¢ sisAJeue gy U]

Bk Bl B hbkE (2)

L2 (B) ale (k) (R)

Rk &k lablie (b)

khh—sp (k)

1@ p2¢ |& ki 3 PP b & 2
MK BlhIR b MSk bd pdb Plrk] lablle

9say} Jo duoN (p)

(q) pue (&) yrog (9)

oy, 994D 19p1Q0 (q)

o], pea ()

PA[[BD SI 001S Ul SPOOT PIAIIIAIL puUL
Jopio ue Juroe[d uoamiaq adselo awny oY,

Wk Dplahe (b)

BbIDS 1d 1D e (R)

bPIRY| 1b Bl LRR2I0 (b)
Lealy B 24 (i)

¢ \PL2 lad hish 1 DR dlplalle

LSO0SLO 14

(18)

(»)

(4)

(A1)

S0sEe



33505 12 OT5057

(xx) Sod UEdT S WFRET & fog
fr=faRaa 9 fea fAfasr @) smaeasar
gt 8 ?

(31) ume fofasr
CIRISREIEA]
(\) srferes fafaer
(%) Swiaad g+

GROUPB

Answer all Five Questions.
gl ufg g & SN < |

2. Differentiate between an accident and an industrial
hazard.

4x5=20

4

gdedr wd stenfie aavr & 9 ek W
X |
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(viii)
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Yodlotflo favalwor § A @1 3ref &lar 27
(31) %3 SyAIfar 919 3k 91 § &9
() weas ud i

(|) &9 ysit IR d= A 3ifere

(?) 379 & ®Ig

The advantage of centralised store is-

(a) Reduce material handling

(b) Lest risk of loss by fire

(c) Effective and better supervision and control
(d) All of the above

D1 HUSR &I [T gl 27

(31) ucref ysg BT HH HIAT

(@) 3T & gRT &fd B $H ST

(|) g9t 3R 48} ;@RE yqd e
(%) Swiaa g+l

Roller conveyors are used for
(a) For straight path

(b) For curved path

(c) For Both (a) & (b)

(d) All of the above

P.T.O
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(xvi)

(xvii)

(xvii)

(xviii)
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Uh dR o qres) fFleor § aftafea

gl 2 |

(1) R

(@) e

(&) argsfe
(q) Wi

EMI means ?
(a) Equibalance monthly instalment
(b) Equate montly instalment

(c) Equilibrium monthly instalment
(d) None of these

3‘0@03}1’5‘0 T 3ref BIaT 87
(31) 9 AR "ili® v
(@) sdaec wifie fow

(&) e wiie fewa

() 39 9 BIg 78

Which of the following body part is more

sensitive to bright light ?
(a) Eye

(b) Ear

(c) Nose

(d) Skin

OT5057

x)

(xi)

(xi)

(xii)
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Hiex dle< b 1988 ¥ 3if~aq wene
foar = o1 ?

(31) 1994 #

(@) 2000 &

() 2001 #

(?) 37 9 »Ig =

High security registration plate has come into
existance vide notification.

(a) 2001 year

(b) 2002 year

(c) 2003 year

(d) None of these

Sd Jren fdeq wic itRpE &
g1 Rac A 3mar 27

(31) 2001 a9

(@) 2002 Tt

(&) 2003 ad

() 379 9 BIg T8

The cost of radial tyre as compared to cross
ply tyre is

(a) Less

(b) Equal

(c) More

(d) None of these
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10.

11.

OR (3721dT)
How you can of estimating passengers for transport
per annum in route explain..

arET qrt A gfoad uRasa & ferg >l &r
AT MY D T Hdhd B ? ARAT I |

Explain ABC analysis in inventory control with
neat sketch.
8

s o3 @ v oA A fEEer 7 g

fazaivor &) =T aY |

Describe the functions of store's management.

YR U<l & B BT qui-] Y |

Describe any four material handling equipments

used in workshop. g

FHTA § ygad fhal ar ASRIa Bvsfel
SYHIUN BT qui & |

P.T.O
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10.

11.

OR(3721d)
How you can of estimating passengers for transport
per annum in route explain..

arAr qrf A gfoed uRasw & fag @y &
AT MY D T dhd 2 ? ARAT I |

Explain ABC analysis in inventory control with
neat sketch.

8
% o3 @& v oA A fEEe 7 g

fazaiyor &) =T &Y |

Describe the functions of store's management.

YR Y- & 1A BT dui Y |

Describe any four material handling equipments

used in workshop. o

AT § ygad fedl ar AT 2vsfei
UGN BT i &Y |
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